Aviation exam level 3

Rank and last name:  ______________________________________           

1. (1 point) The stability of an aircraft is defined as:
a) The stability of the chemical bonds of the aircraft materials;
b) The general tendency of an aircraft to return to its original attitude;
c) The general tendency of an aircraft to maintain a new attitude;
d) The general tendency of an aircraft to maintain its horizontal and vertical position as well as to return to its attitude without any corrective action from the pilot.

2. (1 point) Which of the following is a factor that influences longitudinal stability?
a) The center of gravity;
b) The push center;
c) The dihedral;
d) The keel effect.

3. (1 point) What is the lowest layer of the atmosphere?
a) The stratosphere;
b) The troposphere;
c) The mesosphere;
d) The thermosphere;
e) The biosphere.

4. (1 point) What is the gaseous composition of the atmosphere?
a) 100% oxygen (O2);
b) 80% carbon dioxide (CO2), 20% oxygen (O2);
c) 78% nitrogen (N2), 21% oxygen (O2), 1% other gases;
d) 78% oxygen (O2), 21% carbon dioxide (CO2), 1% water vapor (H2O).

5. (1 point) In which layer of the atmosphere is the ozone layer?
a) The stratosphere;
b) The troposphere;
c) The mesosphere;
d) The exosphere;
e) The thermosphere.

6. (1 point) What are the two main types of clouds?
a) Romulus and stradivarius;
b) Cirrus and altostratus;
c) Cumulus and stratus;
d) Cumulonimbus and cirrostratus.

7. (1 point) The zones of equal atmospheric pressure are connected by:
a) Isotherms;
b) The contour lines;
c) Isosceles;
d) Isobars.

8. (1 point) Wind is defined as:
a) A storm;
b) A horizontal movement of air in the atmosphere;
c) General air circulation;
d) A vertical current created by the uneven heat of the earth.

9. (1 point) Relative humidity is defined as:
a) The amount of water in relation to the density of the air;
b) The temperature at which water vapor condenses on contact with a surface;
c) The humidity of the Earth’s atmosphere at noon;
d) The proportion between the amount of water present in a certain volume of air compared to the maximum amount of water that this same volume of air could contain.

10. (1 point) Positive dynamic stability is:
a) The general tendency of an aircraft to gradually dampen the oscillations to return to its initial attitude quickly (the pitching stops);
b) The general tendency of an aircraft to gradually increase the oscillations to move away from its initial attitude quickly (the pitch increases);
c) The general tendency of an aircraft to keep the oscillations as they are (the pitch remains the same);
d) The general tendency of an aircraft to return to its original attitude when it is deviated from it.

11. (Max 3, min 0) Which of the following choices are lifting agents (Each correct answer 1 point, each incorrect -1 point)?
a) Convection;
b) Unstable air;
c) Dumbbell lifting;
d) Orographic uprising;
e) Front lift.

12. (Max 2, min 0) Choose the flight conditions related to unstable air (Each correct answer 0.5 points, each incorrect -0.5 points):
a) Good visibility
b) Poor visibility;
c) Cumulus clouds;
d) Cirrostratus clouds;
e) Heavy precipitation or thunderstorms;
f) Light rain;
g) Moderate or strong turbulence
h) Little or no turbulence.

13. (1 point) What are the three atmospheric properties?
a) Wind, mobility and compressibility;
b) Mobility, compressibility and expandability;
c) Pressure, humidity and density;
d) Compressibility, pressure and humidity.

14. The characteristics of the typical atmosphere in North America (Each good answer 0.5 point, each bad -0.5 point):
a)  Air is a perfectly dry gas;
b)  The average pressure over the sea is 29.92 inHg;
c)  The average pressure over the sea is 101.3 kilopascals;
d)  The relative air humidity is 25%;
e)  The average temperature above the sea is 15 degrees Celsius;
f)  The average temperature above the sea is 25 degrees Celsius;
g)  The temperature drops by 1.98 degrees Celsius per 500 feet;
h)  The temperature drops 1.98 degrees Celsius per 1000 feet.

15. (1 point) What is a meteorological depression?
a)  An illness that causes loss of pleasure and a sad mood;
b)  A generally very high pressure zone associated with thunderstorms;
c)  The meeting point between two air masses of different temperatures and pressures;
d)  A relatively low pressure area which is associated with thunderstorms.


16. (1 point) What is the rosé point?
a) The place where the water vapor condenses;
b) The temperature at which liquid water evaporates under standard pressure and temperature conditions;
c) The temperature to which the unsaturated air must be cooled, at constant pressure, so that it becomes saturated;
d) The place where it has to cool a mass of air for saturation.

Bonus question (1 Point)
On east and west headings, acceleration causes what type of error on the compass?
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